7.2 Exponential Decay
Algebra 1

Solutions [EIEEE

mentlfy if the function is exponential growth or decay and justify your response.

. f(x) =25 (5)

Exponential
Growth or a

o< b < |

2 f0) =3(3) .

Exponentig
Growth or

O<b< )

f(x) =5.7(0.2)*
Exponential

Growth or
O< b< |

nential

4. f(x) = 821"

or Decay

b> |

5. f(x) = 20(3.6)

Gowiyor Decsy
o> |

6.f0)=7(2) 7

= Docay
b> |

11 f15\*
fo==(3)
Exponential
or Decay

b> |

8. f(x) = 1.1(0.05)*

Exponential

Growth or
o< b<|

Create a model (equation) for each scenario. Use function notation to answer the question.

|

9. 700 grams of radioactive material decays at a rate of
2.4% per year. How much material will t]&ere be

after 100 years? G(‘f\

700(1-0.024

4»_):700(8.01%5
G\(I'Do)"_'

QIQ? NS

10. The new tires on a truck have a tread depth of 0.5
inches and decays at a rate of 1.6% per week. How

deep will the tread be after 52 wegks?
g{,(w\ O.Sﬁ =\ olQ

M= o5 (0 a4)
A(52) = 0.22. inches

11. A car that is worth $25,000, decreases in value by
15% per year. How much will the car be_twonh

after 5 years?

V(t) = A5000(0.45)
v(s)=81,0712 63

[=X-1-] ]"‘0.[5

12. Mr. Brust’s IQ is currently 173, but it is decaying at
a rate of 4.5% every year. What will Mr. Brusl

IQ be in 20 years? (3(¢)= |73U o 0‘15)

B(e) = 173(0-ss) ]
R(22)\=63.93

[ Sketch the graph by filling out a T-chart. Find AT LEAST THREE points. You choose the scale. |

13. y = 20 G)x 14. y =18 @)x
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15. y BG)x 16. y =15(3)
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" Given the following table of values, create an equation that fits these points. |

17.
x 0 1 2 3
y 150 60 24 9.6
~N S NS
6o ~l15o=9.4

A —6o =0.4

i): l‘SO[@-U()X

18.
X 0 1 2 3
b 6 5.1 4.335 | 3.68475
Nt -
Elig= Od

4335+5) = 0.5%

Y= 6o.55)

\ For each equation, identify the initial value (I.V.) and the percent increase or decrease. ]

19. f(x) = 100(1.75)*

=l 75 [xc=3)\oL
C=0.75 =d.lok

Lv. (oo LV. 0.7
@ToDec: /9%  |@inyDec: A10,6%

20. f(x) = 0.7(3.106)*

21. f(x) = 506(0.9)*

= :-_"OD'I
v.5eg 9

%In 1025

22. f(x) = 0.565(0.871)*

I—v= 97|
‘—rl“?-laﬂ
Lv. 0.545 e

o6 Inc @) (2.7 2%

23. f(x) = 8(0.75)*

24. f(x) = 65(1.851)*

25. f(x) = 0.2(0.155)*

26. f(x) = 0.89(1.3)*

|~F= &35 % C =1.93! |=¢ =055 [~ ©= Y3
*F:—(SJ:}S F=0,%] ~{ ==0.8"'5 20.3
v. 3 SOB | v.65 v, 0.3 “=o8% |1y 0. %9
%Dy A3% | ofTDec: 30| % | wmqDy 31.5% | oepec: 30%
27. Find the product of 28. 29. Graph the following:
20 | 140 ) 2
26— +%p -7 18 | 121
15 | 107
22 | 158
|27 _ 25 | 172
M- -27 28 | 194
13 92
n+4 31 201

30. Solve: —4 + — = —6

5 .

M e
=0 5
Ny =-\0

-4 =t
N\=—14

Find the LINEAR regression equation
for the data above.

Equation: L:): 6.- BSX "'l' H ,55_

Correlation Coefficient: O’ O|C1

Explain the meaning of the correlation
coefficient.

P f o e) [ineor Correledoin
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